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i for Exs. 3-41
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1. VOCABULARY Copy and complete: The _? of the quantity 93,534,004
people is the power of 10 nearest the quantity, or 10° people.

2. % WRITING Explain when and how to use the product of powers property.

SIMPLIFYVING EXPRESSIGNS Simplify the expression. Write your answer
using exponents.

3. 47 . 48 4. 8. 8 5843 6. 9+ 9° 4
% 0T 8, (—6)°(—6) 9. 24272 10. (~3)%(—3)!(-3)
11, (3%F 12 13. [(-57%* 14. [(—8)°)2

15. (15 - 29)° 16. (17 - 16)* 17. (132+9)8 18. ((—14) «22)5

SIMPLIFYING EXPRESSIONS Simplify the expression.

19, x* o x? 20. 0.y 21, Z22ez:23 22. a'«a® .« q!®
23, ()2 24, (yH© 25. (b—20% - 26 [(d+ 97
27. (—5x)% 28. —(5x)° 29, (7xy)* 30. (5pg)°
(—10x5)2 « %2 32, (—8m*% . m? 33. 64 - (2d°)* 34, (—20x3)(—x")
3 £,
35. —(2pY3(-L5pT) 36 (% »| @A 37. (3x%)3(2x7* 38. (=10m)2X(—dr®) -

39. ERROR ANALYSES Describe and correct

5

the error in simplifying ¢ « ¢* « ¢°. fegP=glecte P

G*G *C =6 *C *¢C 1
— 4B ><
= 520

40. % MULTIPLE CHOICE Which expression is equivalent to (~9)%2

@ (-9%9° (—9)(—9)° © (-9 @ [(-9°)° 3
41. % MULTIPLE CHOICE Which expression is equivalent to 36x'%?
3
@ 6" 12243° @ 3@ @ (6x)*- X
SIMPLIFYING EXPRESSIONS Find the missing exponent.
42 exl=2 43. (%)} = y® 14, (229 = 85 45. (3% - 243 = 180"

46. POPULATION The population of New York City in 2000 was 8,008,278.
Whatwas the order of magnitude of the population of New York City?

SIMPLIFYING EXPRESSIONS Simplify the expression,.
47. (324311232 48. —(—xy*23)°(xyz)?

438 Chapter 7 Exponents and Exponential Functions

19, (~25)(=5r¥sn3(~2r'st)

3




